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is made of 50% high grade rag stock
with a WATER RESISTING surface sizing.
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TRIGONOMETRIC FORMULZE
B B

a a

A A
b o b o
Right Triangle t———— Oblique Triangles
Solution of RightsTriangles
b

’ a a [ ¢
For Angle 4. sin = ;.coa= o tan = i,cot =grec=7 cosec = —

Given Required i 5
a,bd |A B, tnnA=%=cotB,a=\/a5+7;3=a\jl+?

T nat
a, ¢ A, B b sinA=:—=conB,b=\/(c+aiic—ai=o\/l—g—,
A,a | B, b e| B=90°—A4,b=acotd, o=

sin 4.
o U,
A,b |Boa c| B=9 —A,a=0btan A,c= =
A, c B,a, b B=90°—A,a =csind,b=ccos 4,
Solution of Oblique Triangles
Required asin B = asin O
B0 b O O I I = Ty
bein' 4 ' sono _asinC
R ,0 = 180°—(4 + B),¢c = i 4

4,B,c| A+B=180°—0C,tan ;(Auy)z"‘—‘bl-‘;—"_: (;—“”—B’,

B,¢, 0| sinB=

=asin(;'

sin A
A, B C ,=‘}%ﬂ',‘in4A___\/E€beia

sin} B= \/.C'=180°—-(A+B)

b4e
2 , area = \/a(x-a$ (s—Bi is—-c)
besin 4
e
@ sin B sin O
2sin 4

REDUCTION TO HORIZONTAL

Horizontal distance = Slope distance multiplied by the
cosine of the vertical angle. Thus: slope distance =319.4ft.
Vert. angle =5° 10’. From Table, Page IX. cos 5°10'=
.9959. Horizontal distance=319.4X.9959=318.09 ft.
Horizontal distance also = Slope distance minus slope
distance times (1—cesine of vertical angle). With the
same ﬁgl\tu;es gs in et;:ec pr_eeeggnl%'exnmplle. t&gsfol&rr
ing result is obtained. Cosine =.9959. 1—.9959=.0041.
Horizontal distance g7y’ 5570041 =1.91. 319.4—1.31=318.08 ft. 3
When the rise js known, the horizontal distance is approximately:—the slope dist-
ance less the square of the rise divided by twice the slope distance. Thus: rise=14 ft.,

slope distance=302.6 ft. Horizontal distance=302.6— 2414 30 60,32 302,28 ft.

2% 302.8

area =

area =

MADE IN U. S. A.




